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213 - 13 |/h#k Bk WAy A7 % [V 3|15 1|5
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67 - 13 |HKx 2 E)ER 744 e 2 | 5|6
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50 - 16 |#f SE YN e TEBSH 15| 8

50 - 19 [RHE HFKE N4 4y TEBSH 115 ]| 8

50 - 18 |Ee& 1&& ath 19Ry TEBH 115 ]38

50 - 15 |B#  fEfd 7 4k TEBSE 1158
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98 - 39 |BJII fE5F 4087 19 GNELE 2|1 6| 3

98 - 32 [REEILE 1by +#b WE 2 6 3

98 - 35 |K#f E=E 1485 /72 M A 2|1 6|3

x100m HxE| B [FF 220 - 13 |[Bn #AF Az A TR 1 6 4
220 - 14 |BH wEH Y7 Fax % FR 1 6 4

220 - 20 |HE K th) yav% FF 2 | 6| 4

220 - 21 |F®H HE t3/ 19% FF 2 | 6| 4
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EE Bk HE | B 217 - 40 |FE == 198" K{4{F g 3| A9
ESBk HE| B 79 - 10 &% 1EIHEE 199 19/ Ah B B 1] A |10
EEY HE | B 211 - 65 (&1L B4%E EScdil EEB= 20 A1
Embk Ha| B 108 - 39 |FAT ¥45iA ZYh3 Yaurk k5 3| A |12
£k #E | 2 113 - 29 |EH# FIH 434 9 i 3| A |13
=k HE | B 202 - 10 |JIIFF K WISV, JeEsaeh 2| A |14
EEH @ | B 220 - 23 [{F MK vy L3 198 ey 2 [ A 15
B HE| B 20 - 5 |[@F E3} th, 3tb ERES 3| A6
EE Bk H@E | B 211 - 69 |fE[E ARt 7Y 03 4% REE= 2 | A |17
Embk Ha| B 20 - 9 |B ®‘BE S EHEH 2| A |18
ESBk H+E [ B 234 - 33 [Z@EH —i» 384 {9y ARG 21 A |19
B HE| B 73 - 10 |{AlE ERA A7%E W Baxh 2 | A2
ek #E | 2 108 - 36 ;2F #®B=R 93y Yayay Biks 3 A2t
ESBk HE| B 237 - 10 (L HEE Y38 £ 1937 EfBHIE 3| A |22
EEmBk HE| B 43 - 36 [IBAK EAN FUETVIY (= 1 A | 23

i H 4 Rl | B F— 14 BT WitE 4 KA PB4 IERR | 74| M| Vv
HEEBk HiE| B 63 - 14 |FB#FT EAKER -Yh3 kyhom 1 4 [ R 3| A1
Sk HE | B 35 - 72|k OKER 9195 tdfp JAES 21 A2
HEEBk HiE| B 88 - 35 |FAR &£ hEh 9% AE 21 A3
Sk HE | B 44 - 1 |l THE 9IYY  9FY & 3| Alas
BBk HE| = 88 - 66 |gEiF BE AN K& 3| a]ls
Sk @ | B 35 - 71 |LkE EE 9195 h4h ES 2| Alcs
HEEBk HiE| B 22 - 4 |IBEA &iE e a9t FARMEF 3| A7
Bk HE| B 35 - 82 |thpg EZL Yy 1Y JAE S 2| A8
bk HE| B 10 19 |l =B4T OFAHT hRaFx|Ex 2 | A9
EE HE| B 63 5 |5 H BAsE 94" pEIF % 4 [ 11 A |10
T HE| B 35 - 11 Kk ZAMB 7H4h THE N& 1] a1

-21-




B 4 R | Bk F— L4 BERTE T BEH A ZEN Fresmst | 8 M| v
FENRB HiE| B 142 - 9 |&/K I3 Y SZAY Hebkch 3| AL
FENEDk HE| B 28 - 25 |& HF ¥39 vt THH 3| A2
E BBk HE [ B 87 - 15 |[/H —ib) WA YR Mgz 21 A3
EiE #E | B 220 - 32 [{&@ Eth Y28 YT avr %5 3 Aala
E Rk @ | B 43 - 23 |HEH &= nI4 199y e 3| A5
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E1EBk HE| B 202 - 4 |IhDS 19 1% A 2| B |24
E MRk HiE| B 237 - 16 |fbiE  EEAH ATy 7% mFEHIE 1 B | 25
TE Rk @ | 5 65 - 8 |EJIl JFIE 90 YanIq uzES 1| B |26
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100mMH(76.2cm_8.0m) | 558 | % 85 46 |HP  FWA 4h )3 1BJRH 21 3] 8
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i H 4 R F 1A BERE W4 BN Fresmst | 8 M| v
4x100m Hi@ BLE= 203 - 12 [B®H = %3/ 1% BILE= 3 1 2
203 - 1 |® FTHN AN BlLE= 2 1 2

203 - 6 |HH == R 7 BLE= 1 1 2

203 - 7 |EHR X=& yh4 739 BlhE— 1 1 2

203 - 8 [KF #&E ¥/v8 Yt BLE= 1 1 2

203 - 16 |EA % 14 THY BlLE= 1 1 2

4x100m HiB k5 108 - 23 [E@E Mx NI hvt Wik 3 1 3
108 - 25 [spilh FE=7E E)YY It oL 3 1 3

108 - 2 [t & £4L5 57 o ES 2 1 3

108 - 26 |lbAx BE ¥Rk I4h CES 3 1 3

108 - 3 |BH Bk LY Wik 2 1 3

4x100m Rt REEF 214 - 15 |Af 2E VL7 YUh e 2 1 4
214 - 41 |R® /& 7 anw =iE 1 1 4

214 - 12 | P4t n3 //h HiE 2 1| 4

214 - 47 |FHFEH = 2 LA =iE 1 1| 4

214 - 44 |#HE EF )4 h/ HiE 1 1| 4

214 - 10 |l 2= Y hYY =g 2 1| 4

4x100m i@ RERERB 71 - 24 |EERE EIE Yovy TAN FEBER 2 1 5
71 - 18 |EBH FRR 177 FEREK 3 1 5

62 - 8 |KHE MER 4 a3 TEBEK 3 1 5

71 - 16 |JIE X n9/ 23t REREIK 3 1 5

1 - 18 [&kp &E 429% 73 TEBEIK 3 1 5

37 - 55 |FHE  ZEMEK B oA REBEIK 2 1 5

4x100m AEmE 234 - 11 |8 2E HIA Uvh AEFEHF 1 1 6
234 - 12 |Awm HE ATER vy KErHP 1 1 6

234 - 15 |xA it Ay 74N AEEF 1 1 6

234 - 17 |FH =4 =/ AEEH 2 1 6

234 - 18 |BEIR =@ 7T I3 REEH 2 1 6

234 - 19 |m@E HEE Lag WY AErEF 2 1 6

4x100m Eas 43 8 |B8F MAF 45 hJv (=3l 2 1 7
43 10 |BH*F7—Ex CURETIEEN (Ca=ass 2 1 7

43 9 &M —7t N AFH (E=as 2 1 7

43 40 |l 140 hn anty [E=alss 1 1 7

43 44 BEAR FZ= FIRTHF (E=as 1 1 7

43 41 |0 B3 YHE 14 CEass 1 1 7

4x100m B W AR AR 64 - 31 |FEfE TR Y a9 vk £ 2 1 8
64 - 34 |EH BiE VZ S oK £ g 2 1] 8

64 - 35 A Ex AXEL HT £ 2 1| 8

64 - 33 [Fn =M yEZ i N UG£ U 2 1] 8

==pul 110 - 22 I SEME FHATY 32 =2pY] 2 1 9

110 - 26 JEEI] % TN THA ==py] 2 1 9

110 - 3 [ N ThEb vy ==pyl 1 1 9

110 - 5 N A TheY R ==py] 1 1 9

110 - 1 N B ath o ev) ==pyl 1 1 9
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i H 4 BERE W4 AP AEN Fresmst | 8 M| v
x100m 65 1[I EBE Uy NN WES 2 2| 2
65 2 |BER =R Ity a2 U ES 2 2] 2

65 3 |af =k 4w WES 2 2 2

65 4 |fEFHF E MA B 1 2| 2

x100m 88 5 |8 BT Nk RE= 21213
88 4 |IsE BE B )y KE 2 2 3

88 56 |&AH OFE fv4 133 AE 1 2 3

88 1 |deky = ¥447 ¥4 KE 2 2 3

88 52 |l ER A Yos 3 % A& 1 2 3

88 49 /PR EfE vy 21y S 1 2 3

Xx100m HiB 204 1 |pIE #Z|A4 T/ 3% BILE= 2 2 | 4
204 6 (2% #= 3277 BlE= 11 2| 4

204 48 |#8L &=E 33%9 1 BILE= 2 | 2] 4

204 46 || Rk h7L3 34 BlE= 3|1 2| 4

204 7 (Bl =P #Mv 39 BILE= 1 2 | 4

204 11 | Fin B £5vy )3 BLE= 1 2 | 4

x100m Hi@ 1 13 |BfE = UVNES gl 3215
1 18 | &k BE A27% 73 Il 3 2 5

1 14 |AKk =R 23X 3 sl 3215

1 17 |2 B YA+h ¥4 Al 3 2 5

1 21 [H+ A# ath v42 sl 21 215

1 36 |BER 1TDE 7Y b3 Hh Al 1 2 5

x100m A 232 4 LA = Y5y IFR 3 2 6
232 5 [fER EX Jh A 1f ALFR 3 2 6

232 6 |FHE ZE 491 nf IFA 3| 2 6

232 9 |TTH #E 458 14+ TFR 3| 2 6

232 25 |[mR B&¥ AFn7 TV TR 2 | 2 6

232 2 |[Tyvya #% 7 yya 7 TR 3 2 6

x100m i 101 10 18O & N FTY Bl 2 2| 7
101 13 |\& EfE g 713 [izyiisl 2 2 7

101 19 |HFR EBE& 3% Bl R 2 2|7

101 17 |BEdk BB TN Y f Bl 2| 2| 7

101 21 (AR e 447 2/0 Bl 1 2 | 7

101 26 [#EH# =] VeV Bl 1 2 | 7

4x100m HiB 67 36 [k BE 4F% ¥ £3 1 2 | 8
67 31 |EN A FT7h7 $% £3 1 2 8

67 35 |7% #E3 £ 7R N £ 1 2 | 8

67 39 =2 MWET 7 13 £3 1 2 8

67 32 [HA Fixk L35 F A £3 1 2 | 8

67 83 | BHE Thh7 Fbn e 3 2 8
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i H 4 il F 14 BERE B4 BN Fresmst | 8 M| v
4x100m lig=ate3 = 10 - 4 |it&x T YIER FNIL = 2 | 3| 2
10 - 5 |4%EH MR DZAV- -4y = 1 3 2

10 - 7 |EE& Zx DRI /Y2 = 11 3] 2

10 - 2 |F & *0F FF3 = 2| 3| 2

10 - 6 |FiE %E FHAT PF = 11 3] 2

10 - 3 |#K FE YU < = 2 3 2

4x100m HiB HER R 225 - 24 |k EZ T MYy EG 2 | 3|3
225 - 23 | KA BE Ay T3 e 2| 3|3

225 - 8 |5 @i A% VB Rt 1 3 3

225 - 2 |MhE EIF IZ e Eh 1 3 3

4x100m HiE BI=E 93 - 14 &)1l ¥ L7h7 e m5%5E 3 13| 4
93 - 11 (BEBEm ¥4 k14 M55 E 3|1 3| 4

93 - 7 |REBE RANVASE: M EF5E 3| 3] 4

93 - 8 |[AEHE 1+% 2f M55 E 3|1 3| 4

93 - 9 | KAIAN BF] T939F 74Y M 5758 3 3 4

93 - 15 |=A& R YER AR 3 HEFHE 3|1 3| 4

4x100m e Kz 113 - 20 |fhFm 2 thzy MY P O= 2 | 3|5
113 - 24 | W5 thhs Y P = 3 13|65

113 - 21 |$ABZ2h A v 11% A 2 3 5

113 - 9 [EZ HExE TAFN ANE 3 3 5

113 - 14 [k = W ry 713 FN=4 31315

113 - 18 | =RE 4N Y5v P = 2|1 3] 5

4x100m HiB fEHEH 115 - 34 [BE@ Zoh 7Y R E/D =E 2 3| 6
115 - 35 [W@ B® 97 ¥37 fEZEH 2|1 3|6

115 - 37 |[lbA #A YoEh 2y ¥ Ey 2 3|6

115 - 43 [h%F (£ Th) % E e 1] 3| 6

115 - 44 [FFHF KREE +h/ U7 FEHER 113 |6

4x100m VA0 - 3 |E BT ¥eEh #32 VA 3317
- 8 |HF BR 410 77 MAEEF 2 3 7

- 7 Ry = th/ 23 R 2 3 7

- 9 [RE BT £ vl I anEg 21 3|7

4x100m TEB N EE 71 - 21 |fH BWZE +h4 59 REBHZER 2| 3| 8
71 - 22 |EF EZ kns vy REPHEER 2| 3| 8

71 - 23 |[#T B /1 14 REBHZER 2| 3| 8

71 - 6 |RE #3H NE AR % REBLEH 1 3| 8

71 - 7 |FER 2% nxg Eh AR HZEH 1] 3| 8

71 - 8 |&MA &M Y24 tf RESHEEH 1] 3] 8

-33-




i H 4 iRl | B F 1A BERE W4 BN Fresmst | 8 M| v
4x100m H@| | & |KEEZ 227 - 10 |F@ AEE 777% EEN NEEZ 2 | 4| 2
227 - 11 [HE  FeE 155 FH% REEZ 2 4 2

227 - 12 |#sk ##0 YN 49 NEEZ 2 | 4| 2

227 - 20 |IRR DIE YIING )T NEEZ 1 4 2

227 - 3 |Af B ~vih TH NEEZ 3 41| 2

4x100m HiE\E | = () 90 - 21 [R&E EO 124293 )11 2 4 3
90 - 23 |K%E EHR 304 LA+ )11 2 | 4| 3

90 - 25 |B¥ ALk VAN AT )1 2 4 3

90 - 32 ([ME LB Tha an )1l 1 4 3

90 - 34 |FEx HEZ 7Y Eh Y a7 )| 11 41| 3

90 - 36 [ME ¥EX W 47 1)1 1 4 3

4x100m z |BEEXF 100 - 9 [N TLE YouF  Fan BEEXF 2 | 4| 4
100 - 10 |BBA& Ek NYER FUE BEXS 2 4 | 4

100 - 12 (& 4R 2593 BEEXP 1| 4| 4

100 - 16 [E@ #@& ENZ bl BEXF 1| 4| 4

100 - 15 |HH E50 V2N BEEXF 1 4 4

100 - 14 (& iE NFAZ 1S fif=sdas 1] 4| 4

4x100m H@E | & |AhAE 213 - 25 @O 4 %E k7 F H [i:fa =) 2| 4|5
213 - 22 |FEM AR VUL S FINE 2| 4|5

213 - 16 |luO F#K Yy M FNE 31 41|5

213 - 20 |+ HAY 98 THY FINE 2| 4|5

213 - 5 |#®H H=E YA 493 FAINE 1 4 5

213 - 6 |uE WK W F oM FANE 11 4] 5

4x100m Z |LE 56 - 45 |For =R k7T IH iipas 2 | 4|6
56 - 41 | KA K& £47 MF 1 2 | 4] 6

56 - 44 |REF B N3/ 233 i 2| 4| 6

56 - 50 [l H4E= Y3h /70 il 2 4 6

56 - 72 |BfE —FE 9307 X N i 1] 41| 6

56 - T8 |HF/E EBEZE 17 /% 7 Ly 1] 41| 6

4x100m HE | & |EE 39 - 11 |BR EF Y/ng 1A [l 1| 4|7
39 - 12 [RAIN & NHT 2y [iE] I 1 4 7

39 3 |FiR ZoH hax ) /3 fiE] Iy 2 4 7

39 5 |FR BY N 97 T [ Uiy 2| 4| 7

39 6 |NHE & L% Ih% i)l 2 4 7

39 7 |WLWE =EmE AEZINyRS [Ea 2 4 7

4x100m 3 RE 72 5 |l BAE Y9I TAD RE 3| 41| 8
72 7 |FLE B [N 7 RE 31 4|8

72 8 [&x FTHMN ) 23 REH 3 4 8

72 3 |FHFE K )% t13 FEH 1 4 | 8
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i H 4 F 1A BERE W4 AP AEN Fresmst | 8 M| v
4x100m Ui=Ei] 231 10 |77 W& AN E ] 2 | 5| 2
231 11 |giE fE& YIX Bt TEEE 2| 5| 2

231 9 |¥&AH =& Ly N FEEET 3 (5| 2

231 25 |BEAN ThAAE 7Y% )/h FEEEE 1 5 [ 2

231 21 [#E &3 Y97 79 =Eu 1 5 | 2

231 26 |ER EfE %7 Uvh FEEETY 1 5 | 2

4x100m Hi@ KE% 222 28 |Hls =EH 1Y ¥ #% KER 2 5 3
222 31 ks BB BTy A KAk 2 5 3

222 ¥ |EE BER knt v+ PN 1 5 3

222 29 [ZE #x THE Y PN 2 51 3

222 27 | =5 4 33 KB 2 5 3

222 33 |&E FP TEF A PN 1 51| 3

4x100m Hi@ HFA 103 2 |[KF 7=zxcZ £/94 433 RFA 2 5 | 4
103 17 |=8% S 37 #/9 HFAE 1 5 | 4

103 4 Lk EBE Yoy £ 1x HFAR 1 5 [ 4

103 6 |k &= Yok ULk S 2 | 5| 4

103 28 [t EA A4 Uk HFA 35| 4

4x100m i@ TR 28 13 [i&7k D YA U TR 2| 5|5
28 5 it =k VNS TR 3 (5|5

28 10 |k& &L {79 ¥th TRF 2 5 5

28 11 |88 BX NEVR bF TRAF 2 5|5

28 27 |RE BfE b 74b TRAF 1 5 5

28 12 |BA ¥5 £ETh TERH 1 5| 5

4x100m B AC S 35 60 | 5% THFH A3Fh Fix N 1 5| 6
35 51 |HE &S 191 hy JAC < 2 | 5] 6

35 35 [KFx ¥4 1R 7Y NE 3|5 6

35 38 | FifE knp7  Uf NE 3|5 6

35 52 [(IA IfE 7 F 32k A3 2 5 6

35 51 [#E FHEB 191 hy UAC S 2 5 6

4x100m i@ BHG RER 217 12 |5 2 Y& DN 8o 2| 5|7
217 13 | Bk #FE VAR R 2 | 5| 7

217 2 |[ih HEfh 1 E1h el 1 5 7

217 1 [ Ix Ex TEh 3f Esble) 1 5 | 7

4x100m REF 75 42 |75 HF 9/ ¥Ah REF 1 5| 8
75 45 |1l BiEE A7 Ush KRR F 1 5 | 8

75 6 IS Hizm IR Y vt KR 2 5 8

75 3 |fER FE MAh U7 RE = 2 5 8

75 41 (BB BAF Zhny U3 KR 1 5 8

75 49 | B KELTY Jm4h Y/ RE 1 5 | 8
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i H 4 F 1A ek W4 AP AEN Fresmst | 8 M| v
4x100m T 41 BIE K YIZ 4v% THS 2 6 2
41 B0 & v F ThHY TS 2 6 2

41 w A My THS 2 6 2

41 2% BFH v/ th TS 1 6 2

41 BH B BEZ T THS 2 6 2

41 FEE RE AN TS 2 6 2

4x100m t% 33 BB WA BN RV RVES 2 6 3
33 FE B8 th) 9% t5% 2 6 3

33 AR K& YeEh a7 t& 2 6 3

33 NS S I UF t& 1 6 3

33 Trep BRR Xrth Ak t& 1 6 3

4x100m HE TR 106 Al BT ayv 3 AFA 2 6 4
106 R Pt ZYh7 Int izl 2 6 4

106 H) - EEE /57 AFh AFA 1 6 4

106 B HR #4 by v AFA 3 6 4

106 B Y 4fh v BFA 3| 6| 4

106 BRI HEx N7 3F aFA 3 6 4

4x100m @ Sl 220 Al =R A7%% 1% FF 1 6 5
220 B #H7 4th b2 FF 1 6 5

220 @l MYe 14 FF 3 (6] 5

220 H*ME Em T A IR 3 6 5

220 skl SYLES hl 7/ FR 3 6 5

220 BIEL M YINg i FF 3 6 5

4x100m HE RI&H 15 RIR FF bR B3 3 6 6
15 BE B ) hik Etad 3 6 6

15 AE A =vF nyt B3 1 6 6

15 BH HE EZ VAN Rt 1 6 | 6

15 Bt 2= 1)) Elgis 3 6 6

15 BA B NYER U Eifo¥as 1 6 | 6

4x100m % 13 AT LE ¥/v% 131 % 2 6 7
13 Al &F naxe 7Y % 2 6 7

13 B fEE 4tk 29 % 2 6 7

13 Al EBR =Ih7 bt % 2 6 7

13 s fE= AV S V% % 2 6 7

4x100m ) 91 AR Bk v =1 2 6 8
91 kB {575 EVIREY/ I 2| 6| 8

91 Hike AL 7% 31X F eI 2 6 8

91 HE R KV AR )| 1 6 8

91 Bl RE YT 34 EE 1 6 | 8

91 Al FTIEE A8 Ty eI 1 6 8
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B 4 R | Bk F— L4 BERE S BEH A ZEN Fresmst | 8 M| v
EmB H@| % 64 - 23 |5ED THFE vz Y i 3|1 A1
EEDk @ | % 115 - 35 |{fS@ BE W95 £33 yEEEH 2 a2
ES HB| & 232 - 8 |BK HMY FEL 7HY) IFR 3| A3
Bk HE| % 22 - 4| K% 2 47 72 R E 2| A4
Embk HB| X 88 - 88 |[IUK [FDH YYEL /4 K& 3| A5
TS HE | % 100 - 9 |lUA BRE Y9F 4 Bikh 2| Als
Emk B | 203 - 3 |TFEE AR YEZY  79h BILE= 2| A7
E=bk HE| % 20 - 1 |5 BB 9/ ax &#HET 11 A]s8
Emk HB | Z 103 - 2 |KF f=%C /94 473 BT 2|1 A9
EEBk @ | % 202 - 4 |AIEEA B e h Ft JFhh 2 a0
Em bk HlE | Z 222 - 29 [3EA = THY PN 3 2 | A 11
EEbk HE| & 110 - 1 |&%[@ B At EvY zpualss 1] A |12
bk #HE | % 211 - 61 |H¥ »ZE 547 %35 REE= 2 | Al13
E= Bk H#E| % 108 - 2 [db#t 4] 445 Y 1R 2 | A|f14
EB Bk HE| & 209 - 23 [ER Th a9 {f AL 2| A |15
E=Bk H#E | % 213 - 26 |=HR WF Y F 13 illY =) 2 | A |16
ESB HE | % 30 - 26 |EE WE 9I8° Nyt PN 2| A |17
EE HE| % 209 - 24 |EE FE T4FN" F1Y AfEL 21 A |18
EEk #@ | % 235 - 10 |[HE W Z7E T ¥ HEER 2 | A |19
ESk HE| % 30 - 5 |80 B 429" F 7t K% 2 1 A 20
Bk HE | % 43 - 10 |BFHFT—EE 447 -3 2 2 a2
EEDk @ | % 70 - 13 BT B8 +3I 745 W B 2 a2
EB Bk B | & 232 - 19 |3k #HHE Y33~ 1Y IFR 3| A |23

i H 4 Rl | B F— 14 BT WitE 4 KA BEEA S0 L
T #E | % 63 - 13 (MO B 45 F 1)+ # 4 A 3 a1
ek HB | % 63 - 12 |#AAR 8% IJEh 74/ % 4 [ h 3| A2
Sk HE| % 88 - 51 |hly FIE ¥y 7N &= 11 A3
BEeBk HiE | % 88 - 84 |K¥f 3IFHITE 47 Mh A= 3 Afa
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i A 4 | Bk S 24, B BiHE 4 JiZER FrmAIES || M| v
FE IR HB| & 24 - 15 [+ bHHD SYELY i ch 2|1 A1
FETEDk HE| % 71 - 23 |¥iT B YT 14 RS EED 21 A2
FE IR HB| & 28 - 13 K B YL TR+ 21 A3
FENEDk HE| % 235 - 8 |kFHF ¥EBERA ) %35 EEh 21 A4
EfEBk HiB | ¥ 56 - 41 | KM K 1h7 MY i) 21 Als
T BBk #E | % 225 - 6 |B¥ HE Thh7 £t S 3| Als
FE IR HB| & 30 - 9 |EM #FH Yh ) K% 11 A7
TE TRk H#E | % 213 - 23 [/Ip KDY EEBEF vy 13 [il\Y =) 2| A8
IR #HE | % 214 - 47 |7%H = )4 14 I 11 A9
BBk HE | % 106 - 43 [RAN  HEkk NN ) fisfeahe) 3| A |10
FEMRBK HB| % 220 - 25 |BAR HhE (UEINE S =3 2| A |11
FENEDk HE| % 71 - 7 |%&E@A 2B 138 B RERES 11 A |12
FE IR HB| & 56 - 51 |AR*¥ D %45 131 s 2 | A 13
B HE | % 106 - 41 (AP Fx 4th 3t EEEa) 3 A1
BBk 8| % 44 - 7 [IUKR FlfL TVEh A3) - 2| A 15
FENEDk Ha| % 1 - 31 |RE THIh TUN Y A3 Al 11 A |16
FE IR HB| & 3 - 2 | KT ME T 53 K 2 | A |17
FENEDk HE| % 71 - 8 |ZME I A58 bt RERES 1 A |18
FEMRBK HBE| & 19 - 14| Bk 4 33 KEH 2| A |19
B #HE | % 13 - 17 | =Z 4F abk A 21 A 20
e Hd | %« 234 - 19 |MHE B Ay W) AEmE AP 2| Al21
FENEDk HE| % 64 - 34 [3EW BHE wE 3% g1 2 A |22
MR HE | % 106 - 4 [/L IBF 1YY Y3 EFA 2| B |1
FE D HE| & 115 - 34 [fEA [FDH 7V 4 K FEZED 2|1 B2
FE IR HB| & 24 - 3 (HE HlpE 49T Ytk fRch 3| B3
FENEDk HE| % 15 - 66 [fEE &b 914" #I RS 2| B[4
ot HiE | X 19 - 11 ()l EH 77t 39 kerh RIERIE
FENEDk HE| % 232 - 14 |{FE BEF 1b Uha T 3| B|6
E BBk HE | % 30 - 25 |[fex  HFE a4z 3% PN 2| B |7
E TR #E | % 91 - 49 |{kEA MHEHFY 14" 1%/ =3l 2| B| 8
TEE B #@ | % 101 - 23 &)l BWE NH9 4 LR 1 (B9
FENEDk HE| % 234 - 15 |5kA =M 1 4Y 74D g 1| B |10
MR HE | % 85 - 53 [/ME¥  BAI MY 73 18R R 2 | B |11
EfERk HE| & 22 - 6 |F®E ERTF #49° 1% 3p3 75K 3| B |12
TEE B HE | % 108 - 26 |[lUAR HE YIEb 145 g 3| B |13
FENEDk HE| & 85 - 61 |[FAH HTE 924 —Fh B 1| B |14
BBk #@ | % 28 - 12 |RAX FE 7 Tk 2 B]15
FENEDk HE| % 24 - 20 |#EMR #HF VLE, bt 1| B |16
FE IR HB| & 101 - 15 |[Ath =M A4 2 1L 2 | B |17
=Bk RS 67 - 9 |f@F Ui 794 EF4 I 2] 8|18
FENEDE #HE | % 37 - 64 [BAHE *kk NEERS Eth 1] 8B]19
AR HE| & 44 - 13 1B BF 1¥74 h3 %4t 11820
EREE HE | & 22 - 11 |gEKR I@E 7Y &b 3 BARMES 1 B |21
IR HE | % 13 - 36 ||l &= 9 % /Y —% 2| B |2

i A 4 TR S F— 14 s B4 JiZER T B4 WS K
=Bk HB| & 227 - 3 |FEE = Uth 74 KiEEZ 3| A1
=EREk Ha| % 103 - 28 [{thE EMR 158 9k e 3| A2
—ERRk HEB| & 22 - 10 |fEE KRB ]33 #535 7B B h 21 A3
=Bk #HE| % 15 - 52 |88 EfE 94 ik RE 3 a4
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T B 44 ER'S BERTE T BEH A ZEN Fresmst | 8 M| v
FML%(2.721kg) 7 48 2 |FEmE 1K E3th  nbh BB 3111
AL (2.721kg) 7 85 3 IRE B3 #hh 12 12 Eh 3| 1] 2
FIH%(2.721ke) % 10 3 |¥EK WH HHEF <2 X 21 1|3
B (2.721ke) % 35 38 ([B)  HikE tohy % NE& 3] 1| 4
FasL% (2.721kg) S 113 15 3@H EB1E #h4 19h K 31115
R (2.721ke) %z 35 - 51 |#E FER 191 By N& 21 1] 6
FIH%(2.721ke) % 85 9 =g IR kRIS & h 3| 1|7
FANAZ(2.721kg) % 211 - 60 |FAR —1E T {Fh ERE= 21 1] 8
TN (2.721kg) =4 73 47 (B BE Thh3 Uty AR 21 1] 9
FARAZ(2.721kg) # 101 - 10 [#&Q & NIFTY 1Ly p 21 1] 10
FIH%(2.721ke) % 213 - 21 |K§t KB ¥h7 Y1) R 2 11|11
FAMLI% (2.721kg) =4 35 52 1;I0 IniE INF A& NE 21 1|12
FARR(2.721ke) % 209 - 22 [/ IE DS Y Y 19 AL 21 1] 13
Fah#%(2.721kg) % 225 - 21 | KET EBRZE ¥ Y3 Sl 2| 1| 14
TaA%(2.721kg) 7z 33 7T e % 85+h 43t Tt 1 1] 15
FANAZ(2.721kg) # 100 - 15 [FH 15D 4 nb/ B 11116
NI (2.721kg) 7 220 - 26 [;A[¥f EuE WIS s 2 11|17
TR (2.721kg) E=4 108 3 |EHE Bk 84 Y s 2| 1|18
FaL% (2.721kg) S 100 14 |{fER 1&iE NAZ HB3 HEXP 1 1] 19
AR (2.721ke) 7 8 1 AR BF& EbS EED e 3112
% (2.721kg) E°S 35 65 |&H VO YA EXD & 11121

i H 4 BT WitE 4 KA PrB4A IR | 74| M| vy
F3#2#% (1.000kg) HE| % 234 - 1 |BF EE =7 9% AKigrgh 3111
FIA24% (1.000kg) #8 | % 71 17 AR 2 9w 743 B HE 31 1] 2
P24 (1.000kg) HE| % 227 - 11 [hE FmE 1y FH4% RiggE= 21 1] 3
FI#&# (1.000kg) HE| % 22 9 |IUK Fi5 YEL 7R 31| 4
F#24% (1.000kg) @ | % 1 20 |{RJR  HEEE 1515 nvh Gl 21115
FI24% (1.000kg) HE| % 203 - 12 |;BHF =M 3/ 1%t BB 3|16
4242 (1.000kg) Ha| % 211 - 46 (85K & AR F TR EME= 3| 1|7
245 (1.500kg) HE| & 24 12 | KPg  FEH =y &) I 21 1] s
M#24% (1.000kg) #E | % 30 0 |B2FE B & vang U4 R 21 19
FI44%(1.000kg) B | & 71 - 26 |EE fER YUy hby REIES 2| 1]10
4242 (1.000kg) Ha| % 2 15 |58 #E 1347 3MY 1B 21 1|1
MI424%(1.000kg) HE| % 97 20 3@ EEF #0487 Yuh Ef=13 21112
P24 (1.000kg) HE| % 63 A RTINS YEPY I # 4 [ eh 21113
FI#2#% (1.000kg) HE | % 225 - 15 |SE&  HIFD £749 YVt BTG 21|14
FI8&#% (1.500kg) @ | % 24 5 |E Bt Tht 74% A 3] 1|15
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fiE 4 | Bk S 24, e B E A, [iZ2EN AR NTT || 4| v
PUTEE R HiE | % 93 - 11 |;EMA BMA EXh 14 B &5 3112
PuiES #E| % 209 11 |N@ &8 98T 1y ¥ AFELL 31113
PUAE R HiE | & 88 1 (de4t EmE 447 ¥4 A& 2 1] 4
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